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Which of the following values is the quantity of the charge of an object in
?coulombs

0.8*10*20 O
64*10°20 (@)
3.2¢10020 O

1.6%10020 O
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If you rub a glass rod with a piece of wool and the rod becomes positively

?charged, then the rod

(.Gain positively charged protons) . <=zl 4 o 2535 5 X O
(.Gain negatively charged electrons) . <l 4l cis; €l ) O
(.Losing negatively charged electrons) . izl adi is; €l s @

(loses positively charged protons ). <isll < jo i, e O
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In the adjacent figure, when the two conductors (C and D) are separated from
each other, what type of charge does each conductor acquire and how is it

?charged
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_10x107°x9.81
cosl4 cosl4
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